DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

DIVISION WITH 5 Name:
Time: Score: y—

s —=276.05 =5 = 1) 4665 =+ 5 =
2) —371.55 +5 = m —=10470 + 5 =
33 —3929.5 =5 = 8 —2246 + 5 =
3 —4904 = 5 = 19) —159.65 =5 =
35) 47.5 5 = 50) —2355 + 5 =
56) —218.6 =5 = 51 —23055 =5 =
5 —3350 = 5 = 2 =813 +5=
33) 8.6 =5 = ) 384 +5H=
39) —4529.5 + 5 = ) 43.0+5=
0) 9238 =5 = ) —2067.00 =5 =
i 3105 =5 = 56 —1006.5 =5 =
12) —33540 = 5 = 57 —43555 + 5 =
13) —33360 + 5 = %) =071 +5H =
4) —453.45 =5 = 9 —408.3 + 5 =
15) —GT4 =5 = 60 —8330 =5 =

Mathematics: Division - Level 6 - Horizontal - Set 3
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